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Problem Solving

Learning Goals
- Review formulas and criteria for using them
- Use the information to solve word problems

When do I use...

Pythagorean Theorem
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Trig Ratios
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Cosine Law
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Sometimes you may need more
than one step to solve a problem

— Sketch a diagram
Tha sum of |
angles in any ;
triangle is 180°. Right AABC Oblique AABC
I | 4‘—\
The Pythagoraan Primary Sinelaw Cosine Law

Theorem trigonometnc ratios
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Find the indicated length or angle.
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B =72
Carrie says she can use the Cosine Law X
to solve AXYZ. Do you agree? 240 yd.
Justify your answer. I\
o4
¥ 206 yd. .
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Phoebe and Holden are on T

opposite sides of a tall tree,
dARA
4
3

! 125 m |
Q) Hnd a/\j/C
@ hnd PT or HT (/\St'r\ﬂ
sine low

© Usc Son CanTon to fndl h.
h =59 m

125 m apart. The angles of
elevation from each to the top

of the tree are 47° and 36°.

What is the height of the tree? pl

A hobby craft designer is designing this two-dimensional kite.
a) What is the angle measure between the longer sides?
b) What is the angle measure between the shorter sides?

Explain your strategies.

@D Cut into AAS
@ Cosine law to {ind AC
(3) Sine law fo find A




4C -1 - day 6 - Problem Solving.notebook February 10, 2017

. Use this diagram of the rafters in a greenhouse.
a) What angle do the rafters form at the peak of the greenhouse?
b) What angle do they form with the sides of the greenhouse? Solve this
problem two ways: using the Cosine Law and using primary
trigonometric ratios.

26ft. 6in.

o, cosine law

by cosine lov
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